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<T)1&Gug<3C<a6CI3C& ;

ora ^crnolcoJlQjo gjsoraan ranJs>§6)6Tnorffl a>6tT)c0<3u rura"l<0&j ms 

(OTm1oo)c>(o3 m1sDB036><S6)(j2) <£b1|o ng)mou fflroolayrmKnlaBGOjerrsI
awosrra0 gDu rurolarti. 6Drai1mu rosn§° aj1@oco6ragsn§u__A & B.
A ojlsomronnlraej raoarao snjoa^farainaoo cnoejraroxDo ojlrcno 
rorO)'l^onnu. roronjcmltaJ rama iuo(fg)a)06nou. t/orol. mlOTBOo uoroloQ) 
roroifOo a.snirulsl^j1 g>(mo>ro<fl6>sejo^l<T5?> Gnjoa^ttmnlm csmraro n$(p 

(TOco>. nitoToifDfOTcnlQnSo (srararau'' (A, B, C, D) oid^ojo a(j)\pan1coJoraS 
iliiml. i,\;>csra;> <?o I<m„ ii)'V)'.vK>rw''.

B ail«ocnrora>1raJ eocsraa cs^ias^raTmlnoo mliJcsyc/ocoBO) ram 
COjraO 6><0jO§<OTO)1SSn§u.

(Sojon^djosGJD^^ ko3 oaTOofaifflan n(j}ffOim3g5°. 6)®mi(0<0uisG.!a 
0^lGmofDsoa_jo GjaJOQjcMsejagfy,, nnlralojOTfosmo.

ruraraomujl fflOtObu 75. njro®oaiu>l crca>cc»o rarroro essmldaatS.

C/aral, g)S65»3lCt0ffl0g.

A (XlltBOCDo*

1. crosuoQ)l(cr3 o(j)(g) raTOicgsrul^caraCo g)sn$u'?

A) raomarao, B) 2, C)l. DJ 0
2. 107rarr> 13ra,OiO(rrreu noralo|>A uolotto 

A) 9. B) 10, C) 11. D) 12

3. x = 5 <TO)Gqjo(t3 xh ==
A) 15, B) 25, C) 125, D) 025

4. rtno6>*p o-iocQ)OT)cucx3il(n5 o{jj'tmffno“ 28ran3o "p.isai orapjo 
rmw(TO0?
A) 4, B) B, C) 14, D) 7

5. 52364 o®an cruosu^conai 2rart3n ruoamrulej

A) 10i. B) 10s. C) 10-‘. D)10«



- 2 —

6. 16,23,30, 37,.........o^rm cruoeu^ooiooemlQQJlaft 37(to° ow)

n33©gg CTUoSU^
A) 44, B) 40, C) 40, D) 47

7. 5x‘t4.3x:> __ x3 — 1 n^ori CrUOSlccnomlcQiejIoaSo ajultcrjl

A) 5, B) 4, C) 3, D) 2

8. A PQR05 ^P = 90t,(Si4raamS COS Q =

A) PQ B) QR C) PR D) QR
hit po cm pr-

9. (mo®1? mcm1ssgaj<x»IraS n©(TOu 6nj1ngajoGrrau Y (OTDtMifljrmToi 
<9>7s<Da<Tng>u?
A- (0, 2) B- (2, 0) C- (2, 2) D- (2, —2)

10. «j>o©s> fijoaycmajQQJlraS rv©gDu <sJ0fDlyB0srrou mens (©Iscfoosmero 
gs>s crut&cycruffl©) ©(mglaylg^oaS gr»j<9>ro1g$0OTrmg)lJ?

A» I@1®«a>oemaro)l6>o5o ©era ojra&raco ffl©Doocm1©nSo crufflocn 
@0(/36TOC§0<?“ 0rU(5njCrU®£D06nDo,

B* (®1«cfe0sm(aTOi1©n3ro ©era eajosra<9>co ia©ooanm1©a3o rru 

fflomsacnsEraogo^'' cru&rysTUiMs06rau.

C, 6i«» @1sa.osrr>rtJroil©a5o m<m njraajo rosnf s<0>osna<0>§SQ ca©ooo 
rmloaJo crofflocneocnstraGgog0 rruc&njcTua>ffi06TOo.

D- eim (®1s<fl>06mmTm7©n3o rosn^ ajcosungo raracu mlgj’^ocy'lrfjanm 
«<a>06ra<> a)©oooam1©a3o frumom®ocns©'jcsgo$uau(^njfr\)a)0iO6rra''’.

11. (6)06)9 nJOCQirmO !P0>1 OT5 nfjJOTnCTW0 (IVflW l©frK0TOTln3gg(0}® n© 

onporaJ xu@<ororo)lrr>1gjoOTm@ioo£n ^yaan^an?

A- a©<m'l&aj(/DS3i3c:o mjffion©(i!2)0©-ra0.

B- a©gyo a<£).a6rroc93go ggej^a-asra0.
C. n©Qjo o_ic/o«rim<i ggpi^'rocro'C
D, aJld%(5g|^6m3g©s mTgo gjej^ff.osrra1’,



12.

... n

X > y (HTDiCOOroS,

A- 63053 5)ruocru']oo3laju cruoSD^cmoaDlrol^..
B. 63os 6)mcnao“laju rruoeujcmocolroltSSo,
C, rq£3lJ(BOCn)10)1c9a0i
D- aJOQDJOCfl nJOOlgy.

13. ~ J. "(, 1 l .7 J_ » —1 m —
A- 2, B- l, c J|;.

14. 12 . nj «. • rt -=
A- B’ w* C

15. a-
a:I "

A- a. B- 1 C- l D. a-
~a*

10. x — y = x n(j)rmcxo3 y _
A- x- B- 2X, c- 1. D- 0

17- a -!- b = C -|- d rara>ODOG35 g _
A- b + c -|- d 
B- b — c — d 
C- c -j- d — b 
D, c - d — b

18, x y = 36 & x — y ~ 6 rar^OQ'Oo? x —
A. 30, B- 42, C. 15. D. 21 

1.0. am ajmatumlaain culay’lsj'tf* 314 cm- on^cjDORjS (5i0ro>l6>O&r>
f&TdjCD o

A- 10 cm.. B. 100 cm.. C. 1 cm.. D- 50 cm.

20. nnOGVJ njooQioro n$g)0 <T>l6njcTUXT> a.aJaBamjj'roGrxo'' n’uDisorrtn 
raldj.o jxJ5®raffi0c£Knr)@o?

A- r^)ra)l!tct3.osrarfhco ^ej^fflocw'lro't.a^srn/,,
B- rarorrot<g)®GtO>3srroda.oo @ejj®o<xy1ro1iKiffmo.
C- a(j)onI.'-jojudmnco ^ej^ffiocQj'lro'hossrno.
D- fffror»'^,®aiW)6TOt>3 g)(^j£aca'1«>'k)s>Grno.
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B Qj1(90CDo
ffi0<£>6)u

21. ojlai fOiOSTTOtOj;  4.31 .j_72,6-(-14_|_5.389 3

8 5 4 7
— 7 _ 6 — _2 3
__5 9 5 __6

23. p «, (a, b, c} & Q - (1. 2} mojwoml p ■ <-Q 3

24. 20 fST^a-jIglcTOo 20ooo6mjlnDa gjsl 50(<D)ru ojlejcaioral.
mm ooosmjlna'' 75 Q^rucruQQJOCTemehlfTjJ mm raiDjajIgl 
main n iln i<T>rojgg)u? 3

25. mm ®§(ra)lG<0>o6m(OTO)'to$ a$oocijo m1go gbs1cc» ojira°
10 ecru mlcqjo n$ooajo m1«o d>io$Ttrra> muoa Oocru. aiT
og>» ora>oQJOfdS c6rmoa>6)(tiTm ajt/DmrmlenSo a>"l2eiD(rn)? 3

26. 6x__3 ~ 75 (TOjOqjok^ x5’0^0 ojl£jeca>rT®u'? 3

27. aj1ajej*lt9,ro1t0ffla,:__ f3pa_5^J 3

28. nejsa,ffimga>9s<9,:__ 196x-‘ __ 121 3

29. mm arxnrxJggrocoTeleado njlrr^l^o 361 ^j. ecru ®T >-3% 
co)0(ab (sraro>lea$o ^go^g6XlJ^3),,

30. p(X) = x- — 3x -|- - I mnj'Vicsi P( —7) n©©''

4x3 __ Ox- 5x — 2g)'d x-p3 nO'>ykoa,o>.31. 4
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Instructions:

This is a test to find out how you will perform in a 
Mathematics test without any prior intimation. This test has 
two parts A & B. For each question in Part A, there are 
four possible answers given out of which only one is 
correct. You have to select the correct answer and write the 
code letter of the answer (A,B,C or D) in the answer sheet. 
Do not forget to write the question number.
Each question in Part A carries 2 marks. In Part B 
instructions are given for each question.
DO NOT WRITE ANYTHING IN THE QUESTION PAPER. RETURN THE 
QUESTION PAPER ALONG WITH THE ANSWER SHEET.
Maximum marks for the test are 75.
Yes, you may start now.

PART A

1. The number of end points in a line is 
A. Infinity. B. 2 C. 1 D. 0

2. When 167 is divided by 13, the remainder is
A. 9 B. 10 C. 11 D. 12.

33. If x = 5, then x
A. 15 B. 25 C. 125 D. 625.



11. Which of the following properties is present in a 
square, but not in a rectangle?
A. Opposite sides are parellel.
B. All angles are equal.
C. All sides are equal.
D. Diagonals are equal in length.

12. If x > y, then ( y - x) will be
A. a positive number
B. a negative number
C. Zero
D. Cannot be told.

13. 5/6 + 5/12 + 6/8 =
A. 2 B. 1 C. 16/26 D. 16/24

14. 12/16 -r 3/8 =
A. 128/36 B. 36/128 C. 1/2 D. 2 
2 315. a /a =

A. a B. 1/a C. 1/a2 D. a2

16. If a-b = a, then b =
A. a B. 2a C. 1 D.O

17. If a+b = c+d, then a =
A. b+c+d B. b-c-d C. c+d-b D. c-d-b

18. If x+y = 36 & x-y = 6, then x =
A. 30 B. 42 C. 15 D. 21

19. If the area of a circle is 314cm , then its radius is
A. 10 cm B. 100 cm C.l cm D. 50cm.



4. Which one of the following is not a factor of 28?
A. 4 B. 8 C. 14 D. 7

5. What is the place value of 2 in 52364?
A. 101 B. 102 C. 103 D. 104

6. Which is the next number in the sequence 16,23,30,37..?
A. 44 B. 40 C. 46 D.47

. 4 3 27. What is the degree of the polynomial 5x +3x -x -1?
A. 5 B. 4 C. 3 D. 2

8. In&PQR, / P=90° , Then COS Q =

A. PQ/QR B. QR/PQ C. PR/QR S.QR/PR
9. Which one of the following points lies in the Y-axis?

A. (0,2) B. (2,0) C. (2,2) D. (2,-2)

10. Which of the following is not a sufficient condition 
for establishing the congruence between two triangles?
A. Three sides of one triangle are congruent to the

corresponding parts of the other.
B. Three angles of one triangle are congruent to the

corresponding parts of the other.
C. One side and two angles of one triangle are 

congruent to the corresponding parts of the other.
D. Two sides and the included angle of one triangle are 

congruent to the corresponding parts of the other.



20.

23,

24,

25,

26,

27,
28,

29,

30.

Which of the following conditions makes a parallelogram 

a rectangle?

A. Opposite angles are equal.

B. Adjacent angles are equal.

C. Opposite sides are equal.

D. Adjacent sides are equal.

PART B

21. Find the value of :-
4.31 + 72.6 + 14 + 5.389

Marks

(3)
22. f— —%8 5 ^4 71

-7 -6 - -2 3
-5 -9— —1 5 -6__

(3)

If P = |a,b,cj& Q ={l/2j 

then find P x Q.

20 apples and 20 oranges cost Rs.50. If the cost 

of one orange is 75 ps then what is the cost of one 

apple?
If the longest side in a right triangle is 10 cms, 

and the shortest side is 6 cms, what is the length 

of the third side?

If 6x - 3 = 75, find the value of x.
2Expand : (3p + 5q)

Factorise : 196 x2 - 121
2If the area of a square is 361 cm , find its 

peremeter .

(3)

(3)

If P(x) = x"
3Divide 4x

- 3x + 4, then find P(-7). 
6x2 + 5x - 2 by x +3.

(3)

(3)
(3)
(3)

(3)

(4)

31. (4)


